
��ë��Y

8.10)µ(1)�σ2 = 4�§

�α = 0.05§�L�§Z1−α
2

= 1.96

x̄ = 1
5 (11.2 + 10.8 + 10.9 + 11.3 + 10.9) = 11.02

∴ x̄− 1.96 σ√
n

= 11.02− 1.96 2√
5

= 9.27

x̄+ 1.96 σ√
n

= 11.02 + 1.96 2√
5

= 12.77

∴¤¦��&«m�[9.27, 12.77]

(2)�σ2���§

α = 0.05, n = 5�§�t©ÙL�µt1−α
2

(n− 1) = t0.975(4) = 2.7764

s =
√

1
n

∑n
i=1(xi − x̄)2 = 0.217

∴ x̄− t1−α
2

(n− 1) s√
n

= 11.02− 2.7764 0.217√
5

= 10.75

x̄+ t1−α
2

(n− 1) s√
n

= 11.02 + 2.7764 0.217√
5

= 11.29

∴¤¦��&«m�[10.75, 11.29]

8.11)µ∵ σ2��

�α = 0.05, n = 10�§�t©ÙL�µt1−α
2

(n− 1) = t0.975(9) = 2.2622

s =
√

400 = 20

∴ x̄− t1−α
2

(n− 1) s√
n

= 1500− 2.2622 20√
10

= 1485.69

x̄+ t1−α
2

(n− 1) s√
n

= 1500 + 2.2622 20√
10

= 1514.31

8.13)µ∵ σ2��§¤±�&«m�Ý�2 · Z1−α
2
· σ√

n
≤ 2

�n ≥
4Z2

1−α
2
σ2

L2

¤±�Nþn ≥
4Z2

1−α
2
σ2

L2 �§�&«m�Ý�uL"

8.14)µdK¿�x̄ = 1500h, s2 = 400h2

�χ2©ÙL§�

χ2
α
2

(n− 1) = χ2
0.025(9) = 2.7

χ2
1−α

2
(n− 1) = χ2

0.975(9) = 19.023
(n−1)s2

χα
2

(n−1) = 9.400
2.7 = 1333.33

(n−1)s2

χ1−α
2

(n−1) = 9.400
19.023 = 189.24

∴ σ2�95% �&«m�[189.24,1333.33]

9.1)µ(1)b�H0 : µ = 60

(2)O�ÚOþ��§Ï�σ2��§�x̄ = 61.6, s = 14.4

1



¤±T = x̄−µ
s/
√
n

= 61.6−60
14.4/

√
10

= 0.35

(3)�α = 0.05�§�t©ÙL§�t1−α
2

(n− 1) = t0.975(9) = 2.2622

(4)d|T | < t1−α
2

(n− 1),�µ�Éb�H0 : µ = 60"

9.2)µ(1)b�H0 : µ = 52.50

(2)O�ÚOþ��µÏ�σ2��§�x̄ = 51.143, s = 1.149

¤±T = x̄−µ
s/
√
n

= 51.143−52.50
1.149/

√
6

= −2.893

(3)�α = 0.05 �,�t©ÙL§�t1−α
2

(n− 1) = t0.975(5) = 2.5706

(4)d|T | > t1−α
2

(n− 1),�µáýb�H0 : µ = 52.50"

9.3)µ(1)b�H0 : µ = µ0, H1 : µ > µ0

(2)O�ÚOþ��µ x̄−µ
σ/
√
n

= 20
40/
√

9
= 1.5

(3)�α = 0.01�§�IO��©ÙL��.�Z1−α = Z0.99 = 2.325

(4)Ï� x̄−µ
σ/
√
n

= 20
40/
√

9
= 1.5 < 2.325 = Z1−α

¤±�Éb�H0 : µ = µ0,=ù1g¢��þvkwÍJp"

9.4)µb(1)�H0 : σ2 = 0.0004

(2)O�ÚOþ��,s = 0.025,∴ χ2 = (n−1)s2

σ2 = 14·0.0252

0.0004 = 21.875

(3)�α = 0.05�§�χ2©ÙL§�µ

χ2
1−α

2
(n− 1) = χ2

0.975(14) = 26.119, χ2
α
2

(n− 1) = χ2
0.025(14) = 5.629

(4)Ï�χ2
α
2

(n− 1) = 5.629 < 21.875 < 26.119 < χ2
1−α

2
(n− 1)

¤±�Éb�H0 : σ2 = 0.0004

9.5)µ(1)b�H0 : σ2 = σ2
0 , H1 : σ2 > σ2

0

(2)O�ÚOþ��§dK¿�µσ0 = 0.005, s = 0.007

¤±W = (n−1)s2

σ2
0

= 8·0.0072

0.0052 = 15.68

(3)�α = 0.05�§�χ2©ÙL§�µχ2
1−α(n− 1) = χ2

0.95(8) = 15.507

(4)Ï�W = (n−1)s2

σ2
0

= 8·0.0072

0.0052 = 15.68 > 15.507 = χ2
1−α(n− 1)

¤±áýH0§�ÉH1§=ù1���IO�wÍ �"

9.6)µ(1)b�H0 : σ2 = 80, H1 : σ2 > 80

(2)O�ÚOþ��x̄ = 62.4, s2 = 121.82, σ2
0 = 80

¤±W = (n−1)s2

σ2
0

= 9·121.82
80 = 13.705

(3)�α = 0.05�§�χ2©ÙL§�µχ2
1−α(n− 1) = χ2

0.95(9) = 16.919

(4)Ï�W = (n−1)s2

σ2
0

= 9·121.82
80 = 13.705 < 16.919 = χ2

1−α(n− 1)

¤±�ÉH0 : σ2 = 80

2


